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O=stet 2ECR M=, S¢Z2EH UFY 8,638
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Osste BRG] =22 A2 (AMHIAE
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—2hk+=H 700,000& *23l 1,400
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03 Al S THHI 3,692 3,476 216
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= 1,919
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QA2 KED|8 XS (X 1)
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= 2,741
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= 1,919
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= 10,800
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= 1,890
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=) 1,074
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= 5,943
=) 1,783
A 4,160
01 AFR 22l 2,000 1,000 1,000
OLEHOIQMA ~=TESE 23
2,000,000 1Al 2,000
= 1,000
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02 2324l 9,886 8,500 1,386
OLEHIOIQM A =SS 23
9,886,000 1Al 9,886
= 4,943
= 1,483
[ia 3,460
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= 500
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O&EB0IQIA HEFE Kbl
1,000, 000& * 1Al 1,000
= 500
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— 223X ez HE 1,000& *1,500& 1,500
—ME2XAI AS ME 110,000& = 1574 1,650
~E2H A2QF £ ¢
50,0003 «2Z 154 1,500
— 2T EF(AHASF) 7
80,000& x20= 1,600
—AEAEA S A 7,000% *4H x 1502 4,200
02 2324gHl 34,501 36,960 A2,459
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— 28I} =2 400, 000& =3CH 1,200
—MUBUIZALMSHEA BEAER
53,0003 =120 & *20H 2 1,272
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200,000 = 1270 & =104 2 2,400
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< 34,344
s 251,856
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= 400
< 180
e 420
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OJIHSNEXSFANAE(ZEY)
8,500, 000& = 1CH 8,500
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= 1,280
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< 10,800
e 25,200
abel S S E A 67,693 62,714 4,979
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< 9,649
= 24,910
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= 8,909
= 20,785
0412t Z2XRESES 60,363 53,542 6,821
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OAMR2el 2F 14,962
—SANEX 7 20,9003 x 158 A %12 3,762
—2MI RX(EYH, =2l )
ZetEW 1,000,000 «5& 5,000
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